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F 3 6 ERILFERELFERRS 201548 A8R (+) ~98 (A)
RE—Rx
NDY 2 rRA D7 LK
A fiH 14 2L 34 447 5L 6L 7L 8L
BF14 | 8/8 100m |pHiE &% 1 12. 12 |k Bl 1 12.16 [HH @& 1 12.24 #8481 12.33 [fEfE it 1 12.34 [k W 1 12.35 |["PEE2N 1 12.37 | Wik sk 1 12. 46
DRz -1.5 |- HTF -1.5 |BBILE— 1@ -1.5 |dy- -1.5 |HA{R-FkH -1.5 |RERE —-BKH -1.5 EHEFN- 1L -1.5 ETIREF-EIN -1.5
B 24 | 8/8 100m |[fExk ¥ 2 11. 67 |BIfBlER 2 11.69 | KHT 5 2 11.73 [#k s 2 11.78 |Bkil B 2 11.82 &Il A 2 11.83 [#ex KRHEE 2 11.93 |5 A 2 12. 16
SRR - AR -3.1 | tw -3, 1 | FE KK - 1w -3.1 |G- AR -3.1 |\ PEBE - tw -3.1 | REEHC-FKH -3.1 MlEH - Eh -3, 1 | FAR - ER -3.1
B34 | 8/8 100m |fEiEMAR 3 11.23 REREEZS 3 11.35 [RNLEHEA 3 11.37 Ak HER 3 11.48 A HK 3 11.55 [#)Il A 3 11.56 MM KE 3 11.59 | B9 s 3 11.63
FIRER -0.9 |fHPTEF 5 - K H 0.9 |[BA-HH -0.9 IR - AR -0.9 I AR -0.9 il AT 4R -0.9 |FURFFE - B30 -0.9 | - 1w 5 -0.9
Bdm | 8/8 200m |fHE EE 3 22.73 | HME KE 3 22.95 Ve BEAC 3 23.08 [feif wE 3 23. 28 s e 3 23.37 [ ® 3 23.47 UMIL A3 23.71
BRI - K -9 |[EHTE SR ~1.9 |BKRHIE - Bk -1.9 |l - AR -1.9 |HOKIR-ETF -1.9  EE-ER -1.9 |[Bimn- HaR -1.9
B A 3 23. 28
K — % -1.9
Hydw | 8/9 400m | &8B 3 50.78 [HJE % 3 51.22 [#iE & 3 51.75 kA JEK 3 51.76 R JRAK 3 51.83 )4 F % 3 52.38 | GRS 3 52.46 3 A&k 3 52.58
B kAT FHETF K F-H#R ARE AT 1L - A B - B WS — - E
Brdm o | 8/9 800m |[JFEE b 3 1:56.94 \FfH. Fft 3 1:57.02 &% HIH 3 1:57.03 |k Fik 3 2:02.67 |[&H = 3 2:03.20 /N P 3 2:03.95 | HE fHHE 3 2:04. 32 | RKALRER 3 2:08. 94
HE - B GR LBz HF GR | #hHT - [LIJF GR | ZEIH = 1w 5 VRN - E [ S ] IR AR
BF14 18/9 1500m |HA P 1 4:22.46 |AK A& 1 4:23.17 IR deth 1 4:23.59 | EHEMER 1 4:24.75 |[# R 1 4:24.97 | THE BE 1 4:27.05 | KHE (8 1 4:27.74 |[#EfE AR 1 4:29. 63
IR - 5 2R B 1w AER-ETF D - E R IR — R AL — Bk RN-EF — IR
Br2 - 3408/9] 1500m |fixA B 2 4:05.91 |[E¥ BHEFE 3 4:10.56 | B} 2 4:11.37 |75% KA 3 4:11.85 /A Wi 3 4:11.90 |HE EAE 2 4:12.69 (2 Hie 2 4:12.85 |IU%s  E{EF 3 4:14. 10
R 0T T - o AR WA - LE E2 % 1) ST AT LR - 7 2R FHETF E=Sid a2
Bydm o 8/9 3000m A EE 3 8:48.18 |ffiE  ALHE 3 8:51.19 M  JE 3 8:55.66 | KEK 3 8:57.28 | AK MEM 3 8:57.44 |HilE A 3 8:57.79 |T4HE HEE 3 9:04. 62 | /At 3 9:07.07
i A — - I HE - B =)l AR )l 1@ 5 EE - L - T AR Eatay E 1] RN = A
Bdw  (8/8) 110mH |[@=fE EAE 3 14.39 ik Fash 3 14.72 |68 Ay 3 14.82 |Eifs K& 3 14.93 |#5K  #EsE 3 15.06 |k HOK 3 15.07 /iR Hit4AE 3 15.09 |#RIE #0553 15. 17
(0. 914m) (CIr i) -L4 BB = 1B -1.4 B - E R -4 FRHTF -L.4 HREE-HH -L4 R EHR -4 EF-HR ~1.4 |- B m -1.4
BAAEFE [8/9) 4X100m |FHkE 47.53 |fE R — 47.75 £ 58 47.84 \BRILIEE = 47.94 [T 47.96 KR 48. 18 (il i 48.21 |FKHIPH 48. 84
g gk 2 HEHEAS 1 g &1 B FoEE 1 AN B 1 TH #Fi& 1 w1 AR ZE 1
BRI 2 ME B 2 FRE WE 2 e &2 ANEF o HfESE 2 ik AN 2 AR HE 2 HiT X 2
BRSO MR 1 KAHE 1 FRE Bth 1 kb BE 1 BRC 1 THE R 2 YT e 1 HR it 1
BiE k1 A ZER 2 VEE BH® 2 WEH B 2 HEH OKEl 2 N S N R 2 Tt 2
Bd@m 18/9) 4X100m |[MHATEFREE 44.00 K/ T 44. 27 |BKKKHS 44.27 B = 44.36 4% i 44. 47 |NHRES— 44.93 1 B 45. 13 | [i] ] 45. 18
Wz o3 ik HE 3 VeiE B 3 Ok MERE 3 KE HEK 3 FRIFERH 3 EE e 3 W 2
ks OKft 3 B FHZE 3 JH R 2 aiE #® 2 K mi 3 WA A 3 EAR {HEE 3 aN E3
SRS 3 KO JEK 3 =i e 3 i fnsk o 3 fEgR fUHE 3 SR NI NI Ml & 3 B OKEE 3
REREEZ 3 b o I FRg R 3 S fokt 3 AR b4 3 Mo wAE 3 EiE KR 3 ANER A3
Britm | 8/8 Ak g IE 3 Im86 |ffik #z 3 1m86 |KAE K 3 1m83 [MHrf SEdf 3 1m80 | ¥Esf 3 1m75 K 3 Im75 |21 BAK 3 1n75
TN - EHR KEEH—BKH [ - 1B KA - T AR PR - AR Pl B A - 75 7%
INIEER 3 1m75
ZRE— A
Britm | 8/8 ek st &Kk 3 m30 |'=EN B 3 am20 @A HERE 3 4m00 |t B 3 3m80 i IEME 3 3m60 Kfa w3 3m60 | KM 2 3 3m60
AR W i - E R E[APES R B - L - L
g = 3 3m60
KA - 1L7#
Brdwm | 8/9 FE S TH #EHE 3 6m67 | LB EX 3 6m60 /L ik 3 6m49 SEM eth 3 6m28 | #AH 3 6m26 |GHiE Tt 2 6m24 fRA K 3 6ml8 BAIE A 3 6ml4
- aE -1.6 | 3K -1.2 [LH - S -0.3 |REFRH-FKM -1.8 | K- L -1 | R AT +0.0 | RIS T 5 5 -5 AR -1.0
Britwm | 8/9 AL AN AN YN 14m44 |22 RS2 K0 3 14m10 [#5K  FH 3 12m91 )1 HESS 3 12m85 |43 R 3 12m60 |YiA K& 3 12m56 |H5% HK 3 12m49 [JEH K 3 12m38
(5.000kg) [ dbB5-EKH il - B ERDE T ] FbE - BA-H& FJIR -8 i) - 5 T BIAR - 7%
BrdE | 8/8 UFEBEE. el 3 2723 |4l E 3 2659 il mUE 3 2484 |TE/KIBHEESE 3 2475 |$AK  BEE 3 2415 [FF BTV 3 2371 @ EHE 3 2229 #AAK I 3 2206
8/9 K FE PG - Bk NTC GR |2 [T 5 - 44 NTC GR | K7 - (i JERHA- THZEE - AR AR AP 1
110mH-F AL -8 BE-400m |15, 37/-0. 1-12m47-1m85-54. 64 15.47/-1. 2-13m98-1mb5-52. 29 15.62/-0. 1-10m6 1-1m73-54. 54 16. 24/-1. 8-10m70-1m79-54. 43 16.40/-0. 1-11m26-1m70-54. 46 16. 24/-1. 8-11m37-1m60-54. 17 17.22/-1. 8-11m63-1mb5-54. 56 15. 82/~1. 2-8m98-1m60-55. 87
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F 3 6 ERILFERELFERRS 20154E8 A8A (+) ~9H (H)
RE—Rx
NDY 2 rRA D7 LK
At i H 14 2L 3{r 447 5L 6L 7L 8L
ZF 14 | 8/8 100m | E® &mF 1 13.38 [l ik 1 13.42 [y AB3E 1 13.56 |7l Bk 1 13.58 [ AFARAEE 1 13.64 | H3E 1 13.74 PR AR 1 13.75 |BHik w1 13.78
= HAR -1.5 |Hhn- AR -1.5 |IWEHA+- 1L -1.5 |VEH 1@ 5 -1.5 | AR AR -1.5 JIVE- L% ~1.5 | RFE-E -1.5 /MU-EF -1.5
il #E 1 13.78
ek = F -1.5
24 | 8/8 100m |H & 2 12.82 fex Rk B 2 13.07 [IhN - L 2 13.08 /NIl HAy 2 13.23 |HR MREE 2 13.28 | K ER 2 13.32 [BKEEOND 2 13.33 | AFf fE3E 2 13.48
T 4.4 AER-ETF -4.4 ER-ER -4.4 AT AR -4.4 | FLEIE AT -4.4 REH R85 —4.4 (UGB T E 4.4 BB R 4.4
734 | 8/8 100m | Kb HfE 3 12.80 |¥ff GE 3 12.82 [l &3 3 12.92 |[®H fEF 3 12.93 "EEH AL 3 13. 06 Ml = 3 13.08 A tEM 3 13. 16
AT =3.1 | F/hEg-HTF =31 AR LA =3.1 [IWEHE AL =3.1 |- AR -3.1 Al v - B R =3.1 |BKKHH I - Bk -3.1
i R 3 13. 06
R L -3.1
HE | 8/8 200m |HH KFE 3 25.49 |lAE HWE 3 25.98 W1 FHHE 2 26.18 |gkH K 3 26.64 |FHH LFE 2 26.66 = F {3 26.72 'EJR AWE 3 26.77 #ElE MK 3 27. 24
HUREE - I -2.6 |fHBFY - FKH 2.6 PR -2.6 | RMT-EH -2.6 |HURHE -1 -2.6 |GLKHE - 75 7 ~2.6 R ER -2.6 | RMK-1E 2.6
ZfHm | 8/9 800m | 3 2:16.33 | RJIl P 2 2:16.58 | & W¥FH 3 2:17.59 |(HiE  AHE 2 2:17.93 |[FOXESHE 2 2:18.78 | =il #=H 3 2:19.33 |S2HL M 3 2:21.53
- A% ABILTF BN RSN T K - K A T SBE - E KIEH— 1L
T 14 18/9 1500m NI PHik 1 4:53.76 |&HH  EHAE 1 4:54.81 | K H&E 1 4:55.21 |[#vK EBT) 1 4:56.99 |[EAHI2E 1 4:58. 98 | \HMBEE 1 4:59.60 |PrEl  fEEE 1 4:59.64 /A Fn 1 4:59. 78
R A iy 8 Y - | L E 55 RE A B BHAETF VAR — - tw E-EF AR - Bk AL FH - 4
ZF2 - 34[8/9] 1500m |[AEHSLL 3 4:35.18 |{#H & 3 4:37.89 [EH T4 3 4:38. 14 | AF Rt 2 4:39.53 |#B FiA 3 4:39.88 | [ 1 3 4:39.95 | =7f  JEIE 2 4:44. 85 |10 ¥ 3 4:46. 82
Bl - L BBk FRAER - L IR E - B B Bk B Bk BB E WL
i@ (8/8) 100mH |[RJI #EIE 3 14.79 KK 3 14.91 |#8® RfE 3 14.94 Bk mE 2 15.05 |35 M WEE 3 15.47 ik ER 3 15.47 B 56 3 15. 64 |4 WL 3 15.75
(0. 762m) Bk - E 4.1 WEEL- L 4.1 BRI —-tw 4.1 |B#H-ILE 401 | P T 4.1 BT Ei -4.1 dbEm-AF —4. 1 | Fn - 5 AR 4.1
AR [8/9) 4X100m AR 51.56 4k % 52.30 . N 52.64 PEH— 52.69 JAAIL 52.77 \ERILIZE— 52.96 | [LIKKHS 52.98 & HT 53.32
it R 1 s ORER 1 MR EH 1 FSY NS | Ve B4 1 K #1EF 1 TR O 2 Ver REEHE 1
Per A H 2 xR HE 2 R BR 2 A medE 1 K e 2 ek miZE 2 W0 A 1 RH OEM 2
RAHARE 2 Perx KA 2 R ORE 2 ZH AE 2 ME A 1 miE WA 1 s A1 W5 OB 1
JIARS A 1 PAE ik 1 A #% 1 B AHE 2 M LW 2 T 2 WA FER 2 PR 2
fE [8/9] 4X100m MUBTH 50. 47 |5 KKHE 50. 54 |HBILIE— 50. 66 |FK H 74 50.76 [ IR 50.95 |\ 50.99 \FFRAZE T 52.02 | =AK 55. 05
#ME E¥ 3 M- 3 ITH o EE 3 ol 2 3 fEH #HiZx 3 wits K+ 3 EH B 3 MR HE 3
S8 W3 HH O OFR 2 Ve R 3 e N oY/ i HER 2 RAMERA 3 HE AR 3 HH Er 3
BiE bAH 3 = —H 3 SN HAE 2 P2 RFNHES 3 Ve~ 46 3 HAFHESY 2 ek EE 2 fER ckE 3
R ERE 3 ik Ak 3 HEE) RME 3 K a3 Pl Ak 3 PEB 3 ho EE 3 H8 AhA 3
#f3Lw@ | 8/8 Ak R w3 1m60 | 7RJI1 " 3 Im57 | H#n 3 Im54 [/NFJRED 3 Im51 | ffE 3 Im51 |ZZH Ak 3 Im48 AZ7H R 2 1m48
=X 25 1] iR 15 2R L - 1LE BRI} - AR A E B - Bk [ - 1B
s H& 3 1m48
WEEF 1LY
ZfitE | 8/8 APk K e 3 5m62 |fix REZE 3 5m37 |EfE EHE 3 5m23 | Hif 3 5m07 [P 2 4m99 | FH - BE 3 4m99 JIlA 3 4m95 [FTH  BkiE 3 4m94
K 7 - K +1.9 SRR +2.4 |JLé AT +4.3 |ILH- 5 -1.9 FI-AF -1.9 KRE-EF +2.0 | K- Hik -1.5 |BEH AT -0.2
HE | 8/8 AL E B 3 14mb2 |Z= LI 3 14m48 | 7% 3 12m95 | KTFHAE 3 12m68 | &5%F ‘RiE 3 12m48 4G HAx 2 12mll [EAR FWL 3 1m75 |kl B3 3 11m69
(2.721kg) | H&H-ILE SLAR I - 75 7R A4 FERET BIAR - 7% 4456 - 7 A% IR AT Al v - B R
HE | 8/8 FEFiE  EEE RE 3 2449 |BLR MERS 3 2439 | KEPHEZET 3 2431 | =i W 3 2427 MUE T 2 2329 |HHELT 3 2231 |HEE R 3 2222 | SRE O3 2186
8/9 S - A P - AR KR - K ESVEES -+ 3 En SN ILE - FKH [ ZARAE
100mH-7 ¥ Bk-fig AL£-200m |15. 98/-3. 0-1m45-9m98-27. 91/-1. 3 16.49/-2. 5-1m57-9m95-28. 96/~1. 3 15. 86/-2. 5-1m48-8m58-27. 60/-3. 7 15.72/-2. 7-1m51-8m17-27. 93/-3. 7 16.19/-2. 5-1m48-8m55-28. 35/-3. 7 17.50/-3. 0-1m48-9m80-28. 72/-2. 8 16.24/-2. 7-1m45-8m17-28. 91/-1. 3 17.05/-3. 0-1m35-10m63-28. 87/-1. 3.
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